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On searches a ‘calculus-free’ method to evaluate : 

We know, 
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then , 
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<latexit sha1_base64="DSQZj1WFZz/FyqCxkmkcqbqoaPQ="></latexit>

=) S2 = 8

Very likely a general path to get 

With SageMath : 

<latexit sha1_base64="ez9BY5HE1srhfZLvkX6SClWqZYY="></latexit>
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<latexit sha1_base64="ub7tg3zVpxOEqcpUiev3zZVT5/o="></latexit>

Sr(r : 0..6) = 1, 2, 8, 48, 384, 3840, 46080

and then OEIS A000165
<latexit sha1_base64="JXnedK3aFTRnKqqeQNo/nfmNIic="></latexit>
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(not proved yet but it seems that                         )
<latexit sha1_base64="q+Wp9S+dpKYqxJTqJSn/RWu+DWM="></latexit>

Sr = 2rSr�1

https://oeis.org/A000165

